
 

Jenco Bluetooth                                                     

&5EF5DO pH610B, ORP650B, TDS110B 

�=EFDG>F<O ?>?L7>64F5?O 

 

�6545=<5 

%?4E<5>, GF> 4>65D<?< Jenco 64L< <7<5D5=<O >4G5EF64 6>4O. �>64?G=EF4, <7GG<F5 

<=EFDG>F<N ?5D54 <E?>?L7>64=<5< F5EF5D>6 pH610B, ORP650B, TDS110B. 

 

1 �>F<6<DG=F5 M?5>FD>4 pH <?< ��� F5EF5D4, ?>7DG7<6 57> 6 

D�4 5GD5D=O= D4EF6>D <?< D4EF6>D 4?O ED4=5=<O =4 0,5-2 

G4E4. -?5>FD>4 >>=4G>F><5FD4 4>F<6<DG=F5, ?>7DG7<6 57> 6 

4<EF<??<D>64==GN 6>4G =4 0,5-2 G4E4. 

2 �47DG7<F5 ?D<?>65=<5 4?O E6>57> F5EF5D4 <7 Apple Store <?< Google Play Store. 

 

 

 

�<65 ?5D5G<E?5=O 4>EFG?=O5 ?D<?>65=<O E E>>F65FEF6GNM<<< F5EF5D4<< Jenco: 

APP =4764=<5 %>>F65FEF6GNM<5 F5EF5DO 

Jenco Wand pH App pH610B pH/temperature 

Jenco Wand Conductivity App 

[EC110B] 

EC110B conductivity/salinity/ TDS/temperature[ 0 

to2000 uS/cm ] 

Jenco Wand Conductivity App 

[ EC111B] 

EC111Bconductivity / salinity / TDS / temperature [ 0.00 

to 20.00mS/cm ] 

Jenco Wand Conductivity App 

[EC115B] 

EC115B conductivity / salinity / TDS / temperature [0.0 

to 100.0 uS/cm] 

Jenco Wand TDS App TDS 110B TDS / temperature 

�5D4F<F5 6=<<4=<5, GF> Jenco ?D54?4745F Basic < Pro 65DE<< ?D<?>65=<=: 

Basic Edition PRO Edition 

" �F>5D465=<5 >E=>6=>7> <7<5D5=<O < 

F5<?5D4FGDO 

" �F>5D465=<5 >4G5EF64 <7<5D5=<O 

(F>?L>> pH) 

" �F>5D465=<5 ED>>4 E?G65O 54F4D55> 

" �>4E>47>< ?> >4?<5D>6>5 

" �4EFD>=>4 >F>5D465=<O < ?>>474=<= 

" �E5 DG=>F<< Basic Edition 

" �4?><<=4=<5 <7<5D5=<= E GPS 

" �5<5= E>ED4=5==OE 44==OE E 

4DG7<<< ?D<?>65=<O<< 

" �D>E<>FD <EF>D<< >4?<5D>6>< 

�5D5=4<F5 > E?54GNM5<G L47G ?>E?5 GEF4=>6>< ?D<?>65=<O =4 64L E<4DFD>=. 

3. 'EF4=>6<F5 465 54F4D5=>< AAA, E=O6, 4 74F5< 

6EF46<6 >DOL>G 54F4D5==>7> >FE5>4, E>5?N44O 

?>?OD=>EFL. 

 

4 �46<<F5 >=>?>G On, GF>5O 6>?NG<FL F5EF5D.  

 

�64 5OEFDOE ?>E?54>64F5?L=OE ?>6F>DONM<EEO <<74=<O 

<=4<>4F>D4 Bluetooth G>47O64NF, GF> F5EF5D 6>?NG5= < =4E>4<FEO 6 ?D>F5EE5 E>?DO65=<O. 

 

5 �>4>?NG<F5 F5EF5D > E6>5<G E<4DFD>=G. 

" �46<<F5 =4 6>?44>G Settings (�4EFD>=><) 6 ?D46>< =<6=5< G7?G M>D4=4 ?D<?>65=<O. 

" �46<<F5 =4 >=>?>G Pair (�4D4). 

" �>744 ?D<?>65=<5 >5=4DG6<F < >F>5D47<F F5EF5D, =46<<F5 >=>?>G Connet 

(�>4>?NG<FLEO). �4=>>D4F=>5 <<74=<5 <=4<>4F>D4 BLuetooth G>47O645F =4 F>, GF> 

F5EF5D 6>?NG5= < =4E>4<FEO 6 D56<<5 <7<5D5=<O. 

 

 

 

�>E?5 GEF4=>6>< ?D<?>65=<O >F>4?<5DG=F5 F5EF5D, GF>5O >55E?5G<FL =4<?GGL55 

>4G5EF6> <7<5D5=<O. 

 

 

 

 

 

 

�5M4O =46<74F<O ?> ?D<?>65=<O< 

->D4= <7<5D5=<= 

->D4= <7<5D5=<= >F>5D4645F ?>>474=<O <7<5D5=<=, E>EF>O=<5 M?5>FD>44 

(?D<?>65=<5 F>?L>> 4?O <>45?< pH610B), 4=< E <><5=F4 ?>E?54=5= >4?<5D>6>< < 



 

>EF46L<=EO ED>> E?G65O 54F4D5< F5EF5D4. 

 

�4 MF>< M>D4=5 6O <>65F5 =464FL >=>?>G Hold Reading «'45D64=<5 

?>>474=<=», GF>5O 74D<>E<D>64FL ?>>474=<O, <?< =464FL >=>?>G Save Reading  

«%>ED4=<FL ?>>474=<O», GF>5O E>ED4=<FL F5>GM<5 ?>>474=<O 4?O 5G4GM57> 

<E?>?L7>64=<O. $G=>F<O E>ED4=5=<O <7<5D5=<= 4>EFG?=4 F>?L>> 6 65DE<< Pro. 

->D4= E>ED4=5==OE <7<5D5=<= (F>?L>> Pro-65DE<O) 

->D4= ?4<OF< <7<5D5=<= >F>5D4645F E?<E>>, E>ED4=5==OE 6 ?D<?>65=<< < 

?D54>EF46?O5F 4>EFG? > ?D>E<>FDG E>ED4=5==>= ?>4D>5=>= <=D>D<4F<<, F4>>= >4> 

<5F>4 6D5<5=<, GPS < 74<5F><. ($<EG=>> 1) 

->D4= >4?<5D>6>< 

->D4= >4?<5D>6>< >F>5D4645F ?D>L?O5 44==O5 >4?<5D>6><. �4 MF>< M>D4=5 6O 

<>65F5 =464FL >=>?>G Calibrate «�4?<5D>64FL» < E?54>64FL ?>L47>6O< 

<=EFDG>F<O< 4?O >4?<5D>6>< F5EF5D4. ($<E.2) 

->D4= =4EFD>5> 

->D4= =4EFD>5> >F>5D4645F D47?<G=O5 =4EFD>=><, >>F>DO5 6?<ONF =4 

<7<5D5=<O F5EF5D4. ($<E.3). 

 

�?NG56O5 >?5D4F<< 

�D>6545=<5 <7<5D5=<= 

1. �46<<F5 6>?44>G Measure )�7<5D5=<5) =4 ?4=5?< =46<74F<< ?D<?>65=<O. 

�4?<5D>6>4 

1. �46<<F5 6>?44>G Calibrate (�4?<5D>6>4) =4 ?4=5?< =46<74F<< ?D<?>65=<O. 

2. �46<<F5 >=>?>G Calibrate (�4?<5D>6>4). 

3. %?54G=F5 <=EFDG>F<O< =4 M>D4=5. 

%>ED4=<FL ?>>474=<O 

1. �46<<F5 6>?44>G Measure )�7<5D5=<5) =4 ?4=5?< =46<74F<< ?D<?>65=<O. 

2. �46<<F5 >=>?>G (%>ED4=<FL). 

�D>E<>FD E>ED4=5==OE <7<5D5=<= < 4>546?5=<5 ?D<<5G4=<=  

1. �46<<F5 6>?44>G Saved (%>ED4=<FL) =4 ?4=5?< =46<74F<< ?D<?>65=<O. 

2. %>ED4=5==O5 ?>>474=<O >F>5D464NFEO. �46<<F5 =4 E>ED4=5==>5 7=4G5=<5, GF>5O ?D>E<>FD5FL 

?>4D>5=GN <=D>D<4F<N. 

3. �46<<F5 ?>?5 Notes (�D<<5G4=<O), GF>5O 4>546<FL ?D<<5G4=<O.. 

4. �46<<F5 >=>?>G «=4744» (<) GF>5O E>ED4=<FL < 6O=F< <7 ?>4D>5=>7> M>D4=4. 

�>45?<FLEO E>ED4=5==O<< <7<5D5=<O<< 

1. �46<<F5 6>?44>G Saved (%>ED4=<FL) =4 ?4=5?< =46<74F<< ?D<?>65=<O. 

2. %>ED4=5==O5 ?>>474=<O >F>5D464NFEO. �46<<F5 7=4G>> Share (�>45?<FLEO) 6 ?56>< 65DE=5< G7?G 

M>D4=4.. 

3. �46<<F5, GF>5O ?D>65D<FL E>ED4=5==O5 <7<5D5=<O, >>F>DO<< 6O E>F<F5 ?>45?<FLEO. 

4. �46<<F5 Send (�F?D46<FL) 6 ?D46>< 65DE=5< G7?G M>D4=4. 

5. �46<<F5, GF>5O 6O5D4FL ?D<?>65=<5, GF>5O ?>?GG<FL 6O5D4==O5 E>ED4=5==O5 ?>>474=<O. 

'44?<FL E>ED4=5==O5 ?>>474=<O 

1. �46<<F5 6>?44>G Saved (%>ED4=<FL) =4 ?4=5?< =46<74F<< ?D<?>65=<O. 

2. %>ED4=5==O5 ?>>474=<O >F>5D464NFEO. �46<<F5 Edit ($544>F<D>64FL) 6 ?D46>< 65DE=5< G7?G 

M>D4=4. 

3. �46<<F5, GF>5O ?D>65D<FL E>ED4=5==O5 ?>>474=<O, >>F>DO5 6O E>F<F5 G44?<FL. 

4. �46<<F5 Done 6 ?D46>< 65DE=5< G7?G M>D4=4. 

�D>E<>FD < <7<5=5=<5 =4EFD>5> 

1. �46<<F5 6>?44>G Settings (�4EFD>=><) =4 ?4=5?< =46<74F<<. 

2. �46<<F5 7=4G5=<5 ?4D4<5FD4, >>F>DO= 6O E>F<F5 <7<5=<FL. 

3. �?O EC110B, EC111B, EC115B, TDS110 B =46<<F5 >=>?>G Save (%>ED4=<FL), GF>5O E>ED4=<FL 

<7<5=5=<O. 

4. �?O pH610B < ORP650B =46<<F5 >=>?>G «=4744» (<), GF>5O E>ED4=<FL <7<5=5=<O. 

%>?DO65=<5 F5EF5D4 E ?D<?>65=<5< 

1. '554<F5EL, GF> F5EF5D =4E>4<FEO 6 D56<<5 E>?DO65=<O.. 

2. �46<<F5 6>?44>G Settings (�4EFD>=><) =4 ?4=5?< =46<74F<<. 

3. �46<<F5 >=>?>G Pair (�4D4). 

4. �>4>64<F5, ?>>4 ?D<?>65=<5 >5=4DG6<F F5EF5D. 

5. �46<<F5 >=>?>G Connect (�>4>?NG<FL). 

�5D5654<F5 F5EF5D 6 D56<< E>?DO65=<O 

1. '554<F5EL, GF> 6E5 ?D<?>65=<O, D4=55 ?>4>?NG5==O5 > F5EF5DG, 74>DOFO. 

2. &5EF5D 6>=45F 6 D56<< E>?DO65=<O, >>744 > =5<G =5 ?>4>?NG5=> =< >4=>7> ?D<?>65=<O. 

'EFD4=5=<5 ?D>5?5< 

�D<?>65=<5 D45>F45F, < F5EF5D 6>?NG5=, => ?> >4>>=-F> ?D<G<=5 >=< =5 ?>4>?NG4NFEO  

�E?< Bluetooth E<4DFD>=4 6>?NG5=, < ?D<?>65=<5 ?D>4>?645F >F>5D464FL E>>5M5=<5 ?>6F>D=>7> 

?>4>?NG5=<O, ?5D574?GEF<F5 ?D<?>65=<5, GF>5O ?D<=G4<F5?L=> ?>4>?NG<FL ?D<?>65=<5 > F5EF5DG. 

�> 6D5<O >4?<5D>6>< O ?>?GG4N E>>5M5=<5, GF>5O ?>6F>D<FL L47 

�D>65DLF5, GF>5O >4?<5D>6>G=O= D4EF6>D 5O? E656<<, < GF>5O >>=5F M?5>FD>44 F5EF5D4 5O? 

55E?D5?OFEF65==O<. �E?< MF4 ?D>5?5<4 =5 GEFD4=5=4, MF> <>65F 5OFL E6O74=> E F5<, GF> M?5>FD>4 =4 

F5EF5D5 6OL5? <7 EFD>O <?< ?>6D5645=. �4<5=<F5 M?5>FD>4. 

/ =5 <>7G >F>4?<5D>64FL E6>= F5EF5D, < MDD5>F<6=>EFL M?5>FD>44 =<65 70% (F>?L>> pH610B)  

�> <5D5 <E?>?L7>64=<O MF4?>==>7> D4EF6>D4 < EF4D5=<O MF4?>==>7> E>54<=5=<O MDD5>F<6=>EFL M?5>FD>44 

G<5=LL45FEO. �>744 MDD5>F<6=>EFL M?5>FD>44 ?4445F =<65 70%, 44FG<> pH 5>?LL5 =5 <>65F 5OFL 

?D46<?L=> >F>4?<5D>64=, < F5EF5D =5>5E>4<<> 74<5=<FL. �> 6D5<O <7<5D5=<= D�-M?5>FD>4 D45>F45F, 

>55E?5G<64O >>=FD>?<DG5<>5 6OE6>5>645=<5 MF4?>==>7> D4EF6>D4 G5D57 MF4?>==>5 E>54<=5=<5, < MF> 

O6?O5FEO ?D<G<=>= F>7>, GF> ED>> E?G65O D�-M?5>FD>44 746<E<F >F G4EF>FO <E?>?L7>64=<O < GE?>6<= 

ED4=5=<O M?5>FD>44. 

�D< <7<5D5=<< >F>5D4645FEO OVER <?< UNDER 

$4EF6>D, >>F>DO= 6O <7<5DO5F5, <<55F <7<5D5=<5, >>F>D>5 ?D56OL45F (OVER) <?< =<65 (���) 4>?GEF<<>7> 

4<4?47>=4 4?O F5EF5D4. 

�5 G445FEO ?5D565EF< F5EF5D 6 D56<< E>?DO65=<O 

�4<= F5EF5D <>65F 5OFL E6O74= F>?L>> E >4=<< ?D<?>65=<5< >4=>6D5<5==>. 'F>5O ?5D565EF< G65 

E?4D5==O= F5EF5D 6 D56<< E>?DO65=<O, E=4G4?4 =5>5E>4<<> 74>DOFL ?D<?>65=<5, > >>F>D><G >= 



 

 

?>4>?NG5=. 

&5E=<G5E>>5 >5E?G6<64=<5 M?5>FD>44 

� ?D><56GF>4E <564G <E?>?L7>64=<5< 74M<F<F5 pH-M?5>FD>4, =4EOF<6 7G5>G 6=GFD< >>??4G>4 D4EF6>D>< 4?O 

ED4=5=<O< =4456 >>??4G>> >5D4F=> =4 F5EF5D. �E?< F5EF5D =5 <E?>?L7G5FEO 5>?55 7 4=5=, ?5D54 ?D>6545=<5< 

<7<5D5=<= 4>F<6<DG=F5 M?5>FD>4 pH/��� <5FD4, 74<>G<6 57> 6 D4EF6>D5 5GD5D4 pH4 <?< D4EF6>D5 4?O ED4=5=<O =4 0,5-

2 G4E4, <?< 4>F<6<DG=F5 M?5>FD>4 >>=4G>F><5FD>6, 74<>G<6 57> 6 4<EF<??<D>64==>= 6>45 6 F5G5=<5 0,5 -464 G4E4.  

 %��&�$���&�/ 

 pH610B ORP650B TDS110B 

�4D4<5FDO pH & Temp ORP & Temp TDS & Temp 

�<4?47>= 0.00 ~ 14.00 pH ±1000 mV 0 ~ 4000 mg/L 

,47 <7<5D5=<O 0.01 pH 1 mV 20 mg/L 

&>G=>EFL ±0.05 pH ±1% F.S. ±1% F.S. 

�<4?47>= F5<?5D4FGDO 0.0 ~ 50.0 °C (32.0 ~ 122.0 °F) 

,47 F5<?5D4FGDO 0.1 °C / 0.2 °F 

&>G=>EFL F5<?5D4FGDO ±0.5 °C / ±1 °F 

�E>4=>5 

E>?D>F<6?5=<5 

3 X 1011« NA 

TDS >>MDD<F<5=F  >F 0.3 4> 1.0 

-?5>FD>4 �5?56O=, >4=>?5D5E>4=O= &<F4=>6O5 

EF5D6=< 

%D>> E?G65O 54F4D55> 100 G4E>6 

 

 EC110B EC111B EC115B 

�4D4<5FDO Cond & TDS & Salt 

Temp 

Cond & TDS & Salt 

Temp 

Cond & TDS & Salt 

Temp 

�<4?47>= 0 ~ 2000 ¿S/cm (Cond) 

0 ~ 2000 mg/L (TDS) 

0 ~ 1000 ppm 

(mg/L)(Salt) 

0.00 ~ 20.00 mS/cm (Cond) 

0.00 20.00 g/L (TDS) 

0.00 ~10.00 ppt (g/L)(Salt) 

0 ~ 100.0 ¿S/cm (Cond) 

0.0 ~ 100.0 mg/L (TDS) 

0.0 ~ 50.0 ppm 

(mg/L)(Salt) 

,47 <7<5D5=<O 10¿S/cm (Cond) 0.10 mS/cm (Cond) 0.5¿S/cm (Cond) 

10 mg/L (TDS) 

5 ppm (mg/L)(Salt) 

0.10 g/L (TDS) 

0.05 ppt (g/L)(Salt) 

0.5 mg/L (TDS) 

0.3 ppm (mg/L)(Salt) 

&>G=>EFL ±1% F.S. ±1% F.S.< 10 mS/cm (Cond) 

±2% F.S.g10 mS/cm (Cond) 

±1% F.S.< 10 g/L (TDS) 

±2% F.S.g 10 g/L (TDS) 

±1% F.S.< 5 ppt (g/L) (Salt) 

±2% F.S.g 5 ppt (g/L) (Salt) 

±1% F.S. 

�<4?47>= 

F5<?5D4FGDO 

0.0 ~ 50.0 °C (32.0 ~ 122.0 °F) 

,47 F5<?5D4FGDO 0.1 °C / 0.2 °F 

&>G=>EFL 

F5<?5D4FGDO 

±0.5 °C / ±1 °F 

TDS 

>>MDD<F<5=F 

>F 0.3 4> 1.0 

-?5>FD>4 &<F4=>6O5 EF5D6=< 

%D>> E?G65O 

54F4D55> 

100 G4E>6 

�4D4=F<O 

%D>> 74D4=F<< E>EF46?O5F 1 7>4 (12 <5EOF56) E 44FO ?>>G?><. 

��������: �4D4=F<O =5 D4E?D>EFD4=O5FEO =4 E<5==O5 M?5<5=FO (=4?D., 

M?5<5=FO ?<F4=<O (54F4D5=>< ���), M?5>FD>4O pH < ��� <5FD>6.  

� E?GG45 6OO6?5=<O =54>EF4F>>6 F>64D4 ?D< M>E??G4F4F<< 6 F5G5=<5 

74D4=F<==>7> ED>>4, <O D5>><5=4G5< 6=<<4F5?L=> >7=4>><<FLEO E <=EFDG>F<5= 

?> M>E??G4F4F<< F>64D4, GF>5O >?D545?<FL, 6E5 ?< FD55>64=<O ?> M>E??G4F4F<< 

F5E=<>< E> EF>D>=O ?>?L7>64F5?O 6O?>?=5=O ?D46<?L=> < >>DD5>F=>. 

�> 6>?D>E4< >EGM5EF6?5=<O 74D4=F<==>7> >5E?G6<64=<O F5E=<>< �O <>65F5 

>5D4F<FLEO 6 =4L E5D6<E=O= F5=FD, 44D5E >>F>D>7> G>474= =4 74D4=F<==>< 

F4?>=5. 

%5D6<E=O= F5=FD ?D>6>4<F M>E?5DF<7G 6OO6?5==OE =54>EF4F>>6, >?D545?O5F 

E4D4>F5D 45D5>F4 - 746>4E>>= 5D4> <?< D57G?LF4F =5?D46<?L=>= M>E??G4F4F<<. 

�>E?5 ?D>6545=<O M>E?5DF<7O F>64D E 746>4E><< 5D4>>< ?>4?56<F 

74D4=F<==><G D5<>=FG. 

�E?< D5<>=F =56>7<>65= ?D><76>4<F >5<5= F>64D4 E 746>4E><< 45D5>F>< =4 

F>64D =44?564M57> >4G5EF64. 

 

 

 

 

 


